Subtraction

Subtract a 1-digit number from a 2-digit number
20 - 6 = 	30 - 8 =	41 - 6 =	52 - 5	62 - 6 =	72 - 8 =

27 - 6 = 	37 - 8 =	49 - 6 =	57 - 5		68 - 6 =	79 - 8 =

88 - 6 = 	69 - 8 =	76 - 6 =	85 - 5	79 - 6 =	85 - 8 =
Then write related subtraction facts, e.g. 43 - 6 = 37 and 43 - 37 = 6


Subtract 10 from any 2-digit number as quickly as possible
45 - 10 =	52 - 10 =	39 - 10 =	65 - 10 =	74 - 10 =	62 - 10 =

32 - 10 =	78 - 10 =	86 - 10 =	29 - 10 =	86 - 10 =	76 - 10 =

   - 10 = 83		   - 10 = 74		   - 10 = 79		   - 10 = 81	 


Subtract two 2-digit numbers
45 - 12 =	52 - 21 =	39 - 26 =	65 - 22 =	74 - 33 =	62 - 31 =

32 - 11 =	78 - 46 =	86 - 35 =	29 - 17 =	86 - 13 =	76 - 62 =

93 - 71 =	96 - 65 =	92 - 22 =	97 - 54 =	95 - 43 =	91 - 31 =
Then write related subtraction facts, e.g. 43 - 32 = 11 and 43 - 11 = 32


Subtract 3 numbers
20 - 6 - 3 =		20 - 2 - 5 =	20 - 3 - 4 =		30 - 4 - 4 =		

28 - 3 - 2 =		37 - 5 - 3 =		38 - 4 - 4 =		39 - 5 - 4 =
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